RS : ESERIRIRIE

NBIRTNEEERRIRIE (1)) ~ (NiEF2) |

3L Q
<
BB (M)
a EHZ MR
T <
Iy
L fe3
[y = < —
| O
r H’\ - _/ g
i | //,;/ : ]
< i P I
< ==\ | 4= i L‘_ -
L/ -~ _ 2
B (C) H
Ln w S
Y] g2 BEK | RIRERE @?T%EE?% BRES | EFEEEH | WO §ERY
miENwRE | ME B | BEE |WEEE gy | N | gx [OME
X HEETE | HEETE RS
d i D, d. d. kS ) o )
RNFBL 1006A2.5S| 10 6 2.381 10.65 8.1 25x1 | 2830 | 4810 |0.10 | 26
RNFBL 1208A2.5S| 12 8 2778 | 12.65 96 | 25x1 | 3730 | 6560 [0.10 | 29
RNFBL 1404A3.5S| 14 4 2778 | 145 1.5 35x1 | 5370 [10800 [0.10 | 31
RNFBL 1405A2.5S| 14 5 3175 | 145 11.0 25x1 | 5260 | 9720 [0.10 | 32
RNFBL 1808A3.5S| 18 8 4762 | 185 13.6 35x1 |[13200 |25800 |0.15 | 50
RNFBL 2005A2.5S| 20 5 3175 | 205 17.0 25x1 | 6360 |14200 |0.10 | 40
RNFBL 2010A2.5S| 20 10 4762 | 21.25 16.2 25x1 [10900 [21800 |0.15 | 52
RNFBL 2505A2.5S 2.5x1 | 7070 | 18200
RNFBL 2505A5S % ° 8175 | 285 220 2.5x2 12800 36300 |10 | 43
RNFBL 2510A2.5S 25x1 [17500 |35200
RNFBL 2510A5S 2 10 6.35 2% 19.0 25x2 |31800 70300 |20 | &0
RNFBL 2806A2.5S 25x1 | 7430 |20300
RNFBL 2806A5S 28 6 3.175 | 285 250 25x2 13500 40600 |10 | %0
RNFBL 3210A2.5S 25x1 |19700 [46100
RNFBL 3210A5S 32 10 6.35 3875 | 270 25x2 |35700 |92200 |20 | &7
RNFBL 3610A2.5S 2.5x1 21000 [51000
RNFBL 3610A5S 36 10 6.35 37 300 25x2 38100 [102000 |20 | 70
RNFBL 4010A5S 40 10 6.35 4175 | 35.0 25x2 40100 [116000 | 0.20 | 76
fiEE < 1. WAL 2 AT O T A Z Ls RTRfR — 2 -
2. ACEE 5o BRER AL SEACTE (Bofil b 2 R R A SRR AR -

3. DR AR IUSE b2 s (RESDRERHEIRAT R L BR LU 00mm B T o H 2 fiE

B263



=
| IZIBRRAERNFBL NSK |
D ft R AN
S i A
E<1-] - - k]
< Gi LA I R <
e O =l
Ls
BT : mm
— BN ‘ wig|_ BE | AT W
ERED RE Z33 SEH3L = | ME RE | EERISHRE A (BXR)
£ 28 E@%f g |
A lH|B[TL O w| x Q T |kg)| d | @, L BEE | ) P
42 129 | 8 36 3 | 34 45 M3x0.5 | 5.0 |0.16 8.1| 6.1 |400 800 RS1006A ** | 0.56
45 |32 | 8 | 44 3 | 37 45 |M3x0.5 |55 [0.21 9.6 | 7.6 [400 800 RS1208A ** |0.81
50 |37 |10 |40 | 4 | 40 | 45 |M6x1 |5.0 |0.25 | 11.5 | 9.5 |500 1000 RS1404A ** |1.02
50 |38 |10 | 40 4 | 40 45 |M6X1 5.0 |0.26 | 11.0 | 9.0 [500 1000 RS1405A ** |1.00
80 |60 |12 | 61 | 4 | 65 | 66 |M6x1 |60 |1.00| 136 |[11.6 |500 1000 1500 |RS1808A ** |1.60
60 |46 |10 | 40 4 | 50 45 |M6x1 5.0 |10.37 | 17.0 |14.6 | 500 1000 2000 |RS2005A **|2.17
82 |64 |12 | 61 | 5 |67 | 66 |MBx1 |60 |1.05]|16.2 [13.8 |500 1000 2000 |RS2010A **|2.18
67 |50 |10 gg 4 | 55 55 | M6x1 5.0 ggg 22.0 |{19.6 (1000 2000 2500 |RS2505A **|3.47
96 |72 |15 gg 5|78 | 90 |Mex1 |75 }gg 19.0 [16.6 [1000 2000 2500 |RS2510A **|3.13
80 |60 |12 z; 5 | 65 6.6 M6 x 1 6.0 ggg 25.0 |22.6 (1000 2000 2500 |RS2806A **|4.47
103 | 78 |15 g; 5|8 | 90 |Mex1 |75 ;;g 27.0 [24.6 [1000 2000 3000 |RS3210A **|5.53
110 |82 |17 gg 5190 |[11.0 | MB6Xx1 8.5 ;:; 30.0 |27.6 [1000 2000 3000 |RS3610A **|6.91
116 |88 |17 | 99 | 5 | 96 |11.0 |M6x1 |85 |2.86 | 35.0 |31.8 [2000 3000 4000 |RS4010A ** |8.87

ki

T4, JH
=1

5.

TR A EATREEEE © RIS P 20K - ] MR B R N8 S e 1T R g P

BISAE14mmIL R » B AR IR AR BT 5 B E 1ommBL LI » Sy B ol o

B264



